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Note: (1) All questions are to be attemped’
(2) Figures to the right indicate full marks,

Q1 Choose the correct option and rewrite answer of the following,
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Which of following intermediate is produce during homolytic bond cleavage of alkyl halide?
(a) Carbocation (b) carbanion (c)itee radical (d) None of these

Which intermediate involved during SN' reaction 7

(a) Carbocation (b) carbanion (c) free radical {(d) pentavalent transition state
Polyalkanes are used as

(a) Fire extinguisher (b) Medicine (c) Cooling agent (d) Antifreezing agent
Bond order of He,*? is

(@2®)1()0.5(d) L5

Howmany fone pairs arepresentonthe oxygen atom of a water molecule ?
@0 B @3 @2 |

What is smallest bond angle in an octahedral molecule?

@180°  (b) 120° (c)90° (d) 109%28°
Complexes which containtwo or more central metal ions are called .

(a)mixed ligand (b) tridentate ligand (c) hexadentate ligand  (d) polynuclear complex
In coordination compounds the secondary valencies of a metal ion is satisfied by

(2) anion (b) covalent bond (c) metallic bond (d) coordinate covalent bond

Concentration of a reactantsor productson attaining equilbrium statebecomes
{(a) zero (b) constant (¢) equal {d) unit volume '

Which of the following may be fraction? .

(a) order of reaction (b) molecularity (c)both (d) None of these

Choose the correct eption and fill in the blanks.
Carbocations are . {lewis acid, lewis base)

compound is used as nof-inflamable ? (D.D.T, Benzene)
PCl; has geometry  (trigonal bi;ﬁyramidal, octahedral)
The bond order of Oz is _ . {1,2)
During the formation of a complex compounds ligand can act as a lewis . {acid, base)
The ¢o-ordination number of cobalt in [Co{en)2CI12} is .{4,6)
Temperature dependence of rate constant is given by (k= AeTRT k=AM

As the reaction proceeds, the rate of reaction . (increases, decreases) =
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Answer the following short questions, (Any ten) 120]
Give the difference between 1,2 hydride shift and 1,2 alkyl shift.

Distinguish between (a) Nucleophile and (b) Electrophile

Explain: Stability order of carbocationis 3%>2%> | Os+cm3

Explain the molecular orbital’s formed by combination of s-p atomic orbitals
According to VSEPR theory explain the shape of SF, molecule.

Stateand explain octetrule inbrief,

Give the IUPAC names of the following complexes: Ks[Fe(CN),] and [PtClﬁ]zf.
Give the general valence electronic configuration of d-block elements. )
Explain: Double salts and complex compounds,

Give the difference between order of reaction and molecularity of the reaction.
Give the characteristics of the first order reaction,

What is elementary reaction? Gives types of elementary reactions.

Answer the following long questions. {Any four) ‘ [32]
Draw all possible isomer for the compound having molecular formula CsH;Cl. Give its TUPAC
name, classify them as 1° 2° and 3°.

Neopentyl bromide reacts with ethanol to give ethyl tert-pentyl ether and not ethyl neopentyl ether.
Explain.

Discuss the structures of Nt1; and CIF;molecule with the help of VSEPR theory.

0, molecule is paramagnetic whereas O, ion (peroxide ion) is diamagnetic.

-

. Explain giving diagram on the basis of molecular orbital theory..

Write name, symbol and electronic configuration of 3d transition element series.
What are chelates ? Discuss the classification ofchelates giving suitable example.
Discuss in detail the temperature dependence of rate constant

What is integrated rate law? Derive integrated rate law for first order reaction,
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